ISSN 1842-6298 (electronic), 1843-7265 (print) Volume **6** (2011), 117 – 126

# COMMON FIXED POINTS BY A GENERALIZED ITERATION SCHEME WITH ERRORS

Safeer Hussain Khan

**Abstract**. In this paper, we introduce a generalized iteration scheme with errors for convergence to common fixed points of two nonexpansive mappings. This scheme contains a wide variety of existing iteration schemes as its special cases. The main feature of this scheme is that its special cases can handle both strong convergence like Halpern-type and weak convergence like Ishikawa-type iteration schemes. Our main theorem will in particular generalize a recent result by Kim and Xu [9].

#### 1 Introduction

Rich literature exists on the convergence of various iteration schemes for approximating fixed points of different types of mappings. Some well known iteration schemes include Halpern type, Mann type, Ishikawa type for one mapping and Das-Debata type for two mappings. Let us have a look at these schemes one by one. From now on,  $\mathbb{N}$  will denote the set of all positive integers. Let C be a nonempty convex subset of a normed linear space E and  $T: C \to C$  be a mapping. Let  $\{a_n\}$  and  $\{b_n\}$  be two sequences in [0,1]. The initial guess  $x_1$  is arbitrary but fixed.

Halpern's scheme [5] is as follows.

$$x_1 = x \in C, \ x_{n+1} = a_n x + (1 - a_n) T x_n, \ n \in \mathbb{N}.$$
 (1.1)

An important fact about this scheme is that even if we do not have the strong convergence of the sequence  $\{Tx_n\}$ , we get the strong convergence of a convex combination of  $Tx_n$  and  $x_1$ .

On the other hand, Mann [11] introduced the following so-called "Mann iteration scheme".

$$\begin{cases} x_1 = x \in C, \\ x_{n+1} = \alpha_n T x_n + \beta_n x_n, \ n \in \mathbb{N}, \end{cases}$$
 (1.2)

2010 Mathematics Subject Classification:  $47\mathrm{H}10;\,54\mathrm{H}25.$ 

Keywords: Generalized iteration scheme; Common fixed point; Nonexpansive mapping; Weak convergence; Strong convergence.

where  $\alpha_n + \beta_n = 1$ . It is to be noted that this scheme usually gives only weak convergence even in a Hilbert space. See, for example, [4].

Ishikawa [6] generalized this scheme as follows:

$$\begin{cases} x_1 = x \in C, \\ z_n = \alpha'_n T x_n + \beta'_n x_n, \\ x_{n+1} = \alpha_n T z_n + \beta_n x_n, \ n \in \mathbb{N}, \end{cases}$$

$$(1.3)$$

where  $\alpha'_n + \beta'_n = 1 = \alpha_n + \beta_n$ . This is known as Ishikawa iteration scheme.

These were the schemes containing only one mapping. However, Das and Debata [3] introduced the following scheme for two mappings T and S:

$$\begin{cases}
x_1 = x \in C, \\
z_n = \alpha'_n S x_n + \beta'_n x_n, \\
x_{n+1} = \alpha_n T z_n + \beta_n x_n, \ n \in \mathbb{N},
\end{cases}$$
(1.4)

where  $\alpha'_n + \beta'_n = 1 = \alpha_n + \beta_n$ . We shall call this scheme the Das-Debata scheme.

Keeping in view the importance and intensive study of these schemes, the author introduced the following scheme in his doctoral thesis which later appeared also in [7]:

$$\begin{cases} x_{1} = x \in C, \\ z_{n} = \alpha'_{n} S x_{n} + \beta'_{n} x_{n}, \\ y_{n} = \alpha_{n} T z_{n} + \beta_{n} x_{n}, \\ x_{n+1} = a_{n} x + (1 - a_{n}) y_{n}, n \in \mathbb{N}. \end{cases}$$
(1.5)

where  $\alpha'_n + \beta'_n = 1 = \alpha_n + \beta_n$ . The main features of this scheme are that it can be used for strong convergence like Halpern scheme (1.1) and contains all the above four schemes which generally produce weak convergence. As a matter of fact it reduces to

- Halpern scheme (1.1) for  $\alpha'_n = 0$  and  $\beta_n = 0$  (or S = I).
- Mann scheme (1.2) for  $\alpha'_n = 0$  and  $a_n = 0$  (or S = I).
- Ishikawa scheme (1.3) for  $a_n = 0$  and S = T.
- Das-Debata scheme (1.4) for  $a_n = 0$ .

A motivation for the present work is the iteration scheme recently given by Kim and Xu [9]:

$$\begin{cases} x_1 = x \in C, \\ y_n = \alpha_n T x_n + \beta_n x_n, \\ x_{n+1} = a_n w + (1 - a_n) y_n, n \in \mathbb{N}, \end{cases}$$
 (1.6)

where  $x_1$  and w are given arbitrary but fixed usually different elements of C and  $\alpha_n + \beta_n = 1$ . Our scheme (1.5) reduces to (1.6) when S = I and  $x_1 = w$ .

The scheme (1.6) can be generalized to the following Ishikawa type scheme.

$$\begin{cases} x_{1} = x \in C, \\ z_{n} = \alpha'_{n} T x_{n} + \beta'_{n} x_{n}, \\ y_{n} = \alpha_{n} T z_{n} + \beta_{n} x_{n}, \\ x_{n+1} = a_{n} w + (1 - a_{n}) y_{n}, \ n \in \mathbb{N}, \end{cases}$$
(1.7)

and then its Das-Debata type generalization will be

$$\begin{cases} x_{1} = x \in C, \\ z_{n} = \alpha'_{n} S x_{n} + \beta'_{n} x_{n}, \\ y_{n} = \alpha_{n} T z_{n} + \beta_{n} x_{n}, \\ x_{n+1} = a_{n} w + (1 - a_{n}) y_{n}, n \in \mathbb{N}, \end{cases}$$

$$(1.8)$$

where  $\alpha'_n + \beta'_n = 1 = \alpha_n + \beta_n$ . The above two schemes, to the best of our knowledge, have not yet been studied. However, we will give here a still more general scheme.

In 1998, Xu [16] introduced the following iteration scheme involving error terms:

$$\begin{cases}
x_1 = x \in C, \\
z_n = \alpha'_n T x_n + \beta'_n x_n + \gamma'_n v_n, \\
x_{n+1} = \alpha_n T z_n + \beta_n x_n + \gamma_n u_n, \ n \in \mathbb{N},
\end{cases}$$
(1.9)

where  $\alpha'_n + \beta'_n + \gamma'_n = 1 = \alpha_n + \beta_n + \gamma_n$  and  $\{u_n\}, \{v_n\}$  are bounded sequences in C. This contains both (1.2) and (1.3) as special cases.

Khan and Fukhar [8] went a step ahead to consider the two mappings case:

$$\begin{cases}
x_1 = x \in C, \\
z_n = \alpha'_n S x_n + \beta'_n x_n + \gamma'_n v_n, \\
x_{n+1} = \alpha_n T z_n + \beta_n x_n + \gamma_n u_n, \ n \in \mathbb{N},
\end{cases}$$
(1.10)

where  $\alpha'_n + \beta'_n + \gamma'_n = 1 = \alpha_n + \beta_n + \gamma_n$  and  $\{u_n\}, \{v_n\}$  are bounded sequences in C.

We now introduce the iteration scheme which we shall use to prove a strong convergence theorem to approximate the common fixed points of the two nonexpansive mappings S and T:

$$\begin{cases}
 x_1 = x \in C, \\
 z_n = \alpha'_n S x_n + \beta'_n x_n + \gamma'_n v_n, \\
 y_n = \alpha_n T z_n + \beta_n x_n + \gamma_n u_n, \\
 x_{n+1} = a_n w + (1 - a_n) y_n, \ n \in \mathbb{N},
\end{cases}$$
(1.11)

where  $\alpha'_n + \beta'_n + \gamma'_n = 1 = \alpha_n + \beta_n + \gamma_n$  and  $\{u_n\}$ ,  $\{v_n\}$  are bounded sequences in C. This scheme surely contains all the ten schemes (1.1)-(1.10) with suitable choice of parameters. We can actually obtain

- (1.10) when  $a_n = 0$ .
- (1.9) when  $a_n = 0$  and S = T.
- (1.8) when  $\gamma'_n = 0 = \gamma_n$ .
- (1.7) when  $\gamma'_n = 0 = \gamma_n$  and S = T.
- (1.6) when  $\gamma'_n = \gamma_n = 0$  and S = I.
- (1.5) when  $\gamma'_n = \gamma_n = 0$  and w = x.
- (1.4) when  $\gamma'_n = \gamma_n = a_n = 0$ .
- (1.3) when  $\gamma'_n = \gamma_n = a_n = 0$  and S = T.
- (1.2) when  $\alpha'_n = \gamma'_n = \gamma_n = a_n = 0$ .
- (1.1) when  $\alpha'_n = \gamma'_n = \beta_n = \gamma_n = 0$  and w = x.

#### 2 Preliminaries and Preparatory Lemmas

Let E be a real Banach space and  $E^*$  its dual. The value of  $x^* \in E^*$  at  $x \in E$  will be denoted by  $\langle x, x^* \rangle$ . The duality mapping J of E into  $E^*$  is defined as

$$J(x) = \{x^* \in E^* : \langle x, x^* \rangle = ||x||^2 = ||x^*||^2\}, x \in E$$

Let  $U = \{x \in E : ||x|| = 1\}$ . A Banach space E is said to be uniformly smooth if the limit

$$\lim_{t \to 0} \frac{\|x + ty\| - \|x\|}{t}$$

exists uniformly for each x and y in U. For the following lemma, see for example [2].

**Lemma 1.** If E is uniformly smooth then the duality mapping is single-valued and norm to norm uniformly continuous on each bounded subset of E.

If A and B are nonempty subsets of a Banach space E such that A is a closed, convex subset of E and  $B \subset A$ , then a map  $Q: A \to B$  is called a retraction from A onto B provided Q(x) = x for all  $x \in B$ . A retraction  $Q: A \to B$  is called sunny provided Q(x + t(x - Q(x))) = Q(x) for all  $x \in A$  and  $t \geq 0$  whenever  $x + t(x - Q(x)) \in A$ . If E is a smooth Banach space, then  $Q: A \to B$  is a sunny nonexpansive retraction if and only if  $\langle x - Qx, J(y - Qx) \rangle \leq 0$  for all  $x \in A$  and  $y \in B$ . See [1] and [12].

In what follows, we denote the set of fixed points of a mapping T by F(T). Reich [13] has proved the following.

**Lemma 2.** Let E be a uniformly smooth Banach space and C a nonempty, closed, convex subset of E. Let T be a nonexpansive mapping from C into itself such that  $F(T) \neq \phi$ . For each fixed  $u \in C$  and every  $t \in (0,1)$ , the unique fixed point  $x_t \in C$  of the contraction  $C \ni x \mapsto tu + (1-t)Tx$  converges strongly as  $t \to 0$  to a fixed point of T. Define  $Q: C \to F(T)$  as  $Qu = \lim_{t \to 0} x_t$ . Then Q is the unique sunny nonexpansive retract from C onto F(T); that is, Q satisfies:

$$\langle u - Qu, J(z - Qu) \rangle \le 0, \quad u \in C, \quad z \in F(T).$$

We shall also use the following lemmas.

**Lemma 3.** [10] Let  $\{r_n\}, \{s_n\}, \{t_n\}$  and  $\{k_n\}$  be nonnegative sequences satisfying

$$r_{n+1} \le (1 - s_n)r_n + s_n t_n + k_n$$

for all  $n \in \mathbb{N}$ . If  $\sum_{n=1}^{\infty} s_n = \infty$ ,  $\lim_{n \to \infty} s_n = 0$ ,  $\lim_{n \to \infty} t_n = 0$  and  $\sum_{n=1}^{\infty} k_n < \infty$ , then  $\lim_{n \to \infty} r_n = 0$ .

**Lemma 4.** [15] Let  $\{r_n\}$  and  $\{k_n\}$  be nonnegative sequences satisfying

$$r_{n+1} \le r_n + k_n$$

for all  $n \in \mathbb{N}$ . If  $\sum_{n=1}^{\infty} k_n < \infty$ , then  $\lim_{n \to \infty} r_n = 0$ .

**Lemma 5.** [9] If E is a Banach space, then

$$||x + y||^2 \le ||x||^2 + 2\langle y, j(x + y)\rangle$$

holds where  $j(x+y) \in J(x+y)$ .

## 3 Convergence by a generalized iteration scheme

We shall use our new iteration scheme (1.11) to prove the following strong convergence theorem to approximate the common fixed points of two nonexpansive mappings S and T. This will end up with a generalization of Theorem 1 of Kim and Xu [9] among others. See the remarks after the proof of the following theorem.

**Theorem 6.** Let E be a uniformly smooth Banach space and C a closed, convex subset of E. Let S and T be nonexpansive mappings from C into itself such that  $F = F(T) \cap F(S) \neq \phi$ . Further, let  $\{x_n\}$  be defined by (1.11) where  $\{u_n\}$  and  $\{v_n\}$  are bounded sequences in C. The parameters  $\alpha_n, \beta_n, \alpha'_n, \beta'_n, \gamma_n$  and  $\gamma'_n$  are in [0,1] with  $\alpha_n + \beta_n + \gamma_n = 1 = \alpha'_n + \beta'_n + \gamma'_n$ . Let  $a_n$  be in (0,1) and the sequences  $a_n, \alpha_n, \beta_n, \alpha'_n, \beta'_n$  all converge to zero. Also assume that

$$\begin{cases} \sum_{n=1}^{\infty} a_n = \infty, \sum_{n=1}^{\infty} |a_{n+1} - a_n| < \infty, \\ \sum_{n=1}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty, \sum_{n=1}^{\infty} |\alpha'_{n+1} - \alpha'_n| < \infty, \\ \sum_{n=1}^{\infty} |\beta_{n+1} - \beta_n| < \infty, \sum_{n=1}^{\infty} |\beta'_{n+1} - \beta'_n| < \infty, \\ \sum_{n=1}^{\infty} \gamma_n < \infty, \sum_{n=1}^{\infty} \gamma'_n < \infty. \end{cases}$$

Then  $\{x_n\}$  converges strongly to a common fixed point of S and T.

*Proof.* Let  $q \in F$ . Since  $\{u_n\}$  and  $\{v_n\}$  are bounded sequences in C so without loss of generality we may assume that there exists M > 0 such that

$$\max(\sup_{k>1} \|u_k - q\|, \sup_{k>1} \|v_k - q\|, \|w - q\|, \|x_1 - q\|) \le M.$$

We shall first prove that  $\{x_n\}$  is a bounded sequence. To do this, we shall prove by mathematical induction that  $||x_n - q|| \le M$  holds for all  $n \in \mathbb{N}$ . The assertion is clearly true for n = 1. Suppose that the assertion is true for n = k for some positive integer k. That is, suppose  $||x_k - q|| \le M$  for some positive integer k. We now prove that  $||x_{k+1} - q|| \le M$ . We have

$$||z_{k} - q|| = ||\alpha'_{k}Sx_{k} + \beta'_{k}x_{k} + \gamma'_{k}v_{k} - q||$$

$$\leq \alpha'_{k}||x_{k} - q|| + \beta'_{k}||x_{k} - q|| + \gamma'_{k}||v_{k} - q||$$

$$< M$$

and

$$||y_k - q|| \leq \alpha_k ||z_k - q|| + \beta_k ||x_k - q|| + \gamma_k ||u_k - q||$$

$$\leq M$$

so that

$$||x_{k+1} - q|| \le a_k ||w - q|| + (1 - a_k) ||y_k - q||$$
  
  $\le M.$ 

This shows that not only  $\{x_n\}$  but also  $\{y_n\}$  and  $\{z_n\}$  are bounded. Next consider

$$||x_{n+1} - x_n|| = ||a_n w + (1 - a_n)y_n - a_{n-1}w - (1 - a_{n-1})y_{n-1}||$$

$$= || (a_n - a_{n-1})w + (1 - a_n)(y_n - y_{n-1}) ||$$

$$+ (1 - a_n)y_{n-1} - (1 - a_{n-1})y_{n-1} ||$$

$$\leq |a_n - a_{n-1}|(||w|| + ||y_{n-1}||) + (1 - a_n)||y_n - y_{n-1}||.$$

Put  $K = \sup[\|Sx_n\|, \|x_n\|, \|Tz_n\|, \|w\| + \|y_n\|, \|u_n\|, \|v_n\|]$ . Then

$$||y_{n} - y_{n-1}|| = \left\| \begin{array}{l} \alpha_{n}Tz_{n} + \beta_{n}x_{n} + \gamma_{n}u_{n} - \alpha_{n-1}Tz_{n-1} \\ -\beta_{n-1}x_{n-1} - \gamma_{n-1}u_{n-1} \end{array} \right\|$$

$$= \left\| \begin{array}{l} \alpha_{n}\left(Tz_{n} - Tz_{n-1}\right) + (\alpha_{n} - \alpha_{n-1})Tz_{n-1} \\ +\beta_{n}\left(x_{n} - x_{n-1}\right) + (\beta_{n} - \beta_{n-1})x_{n-1} \\ +\gamma_{n}u_{n} + \gamma_{n-1}u_{n-1} \end{array} \right\|$$

$$\leq \frac{\alpha_{n}\left\|z_{n} - z_{n-1}\right\| + \beta_{n}\left\|x_{n} - x_{n-1}\right\| + |\alpha_{n} - \alpha_{n-1}|\left\|Tz_{n-1}\right\|}{+|\beta_{n} - \beta_{n-1}|\left\|x_{n-1}\right\| + |\gamma_{n}|\left\|u_{n}\right\| + |\gamma_{n-1}|\left\|u_{n-1}\right\|}$$

$$\leq \alpha_{n}\left\|z_{n} - z_{n-1}\right\| + \beta_{n}\left\|x_{n} - x_{n-1}\right\| + \delta_{n}K$$

where  $\delta_n = |\alpha_n - \alpha_{n-1}| + |\beta_n - \beta_{n-1}| + |\gamma_n| + |\gamma_{n-1}|$ . Similarly,

$$||z_{n} - z_{n-1}|| \leq |\alpha'_{n} + \beta'_{n}| ||x_{n} - x_{n-1}|| + \delta'_{n}K$$

$$= |1 - \gamma'_{n}| ||x_{n} - x_{n-1}|| + \delta'_{n}K$$

$$\leq ||x_{n} - x_{n-1}|| + \delta'_{n}K$$

where 
$$\delta'_n = \left| \alpha'_n - \alpha'_{n-1} \right| + \left| \beta'_n - \beta'_{n-1} \right| + \left| \gamma'_n \right| + \left| \gamma'_{n-1} \right|$$
. Thus 
$$\|y_n - y_{n-1}\| \leq \alpha_n [\|x_n - x_{n-1}\| + \delta'_n K] + \beta_n \|x_n - x_{n-1}\| + \delta_n K$$

$$\leq (\alpha_n + \beta_n) \|x_n - x_{n-1}\| + (\delta_n + \delta'_n) K$$

$$\leq \|x_n - x_{n-1}\| + (\delta_n + \delta'_n) K$$

and so

$$||x_{n+1} - x_n|| \le |a_n - a_{n-1}| (||w|| + ||y_n||) + (1 - a_n) \begin{bmatrix} ||x_n - x_{n-1}|| \\ + (\delta_n + \delta'_n) K \end{bmatrix}$$
  
$$\le ||x_n - x_{n-1}|| + [|a_n - a_{n-1}| + (\delta_n + \delta'_n)] K$$

Applying Lemma 4, we get  $\lim_{n\to\infty} ||x_{n+1} - x_n|| = 0$ .

Next, having in mind Lemma 2, let  $p = Q(w) = \lim_{t\to 0} p_t$  where  $p_t$  is the unique fixed point of the contraction  $x \mapsto tu + (1-t)Tx$ . See also Shioji and Takahashi [14]. Now we shall prove that  $\limsup_{n\to\infty} \langle w-p, J(x_n-p)\rangle \leq 0$ . Since  $p_t = tw + (1-t)Tp_t$ , therefore  $p_t - x_n = t(w-x_n) + (1-t)(Tp_t - x_n)$  and so by Lemma 5,

$$||p_{t} - x_{n}||^{2} \leq (1 - t)^{2} ||Tp_{t} - x_{n}||^{2} + 2t \langle w - x_{n}, J(p_{t} - x_{n}) \rangle$$

$$\leq (1 - 2t + t^{2}) ||p_{t} - x_{n}||^{2}$$

$$+ (1 - t)^{2} ||Tx_{n} - x_{n}|| [||Tx_{n} - x_{n}|| + 2 ||p_{t} - x_{n}||]$$

$$+ 2t ||p_{t} - x_{n}||^{2} + 2t \langle w - p_{t}, J(p_{t} - x_{n}) \rangle.$$

Thus

$$0 \leq t^{2} \|p_{t} - x_{n}\|^{2} + (1 - t)^{2} \|Tx_{n} - x_{n}\| [\|Tx_{n} - x_{n}\| + 2 \|p_{t} - x_{n}\|] -2t \langle p_{t} - w, J(p_{t} - x_{n}) \rangle.$$

But

$$||Tx_{n} - x_{n}|| \leq ||x_{n+1} - x_{n}|| + ||x_{n+1} - y_{n}|| + ||y_{n} - Tx_{n}||$$

$$\leq ||x_{n+1} - x_{n}|| + a_{n} ||x - y_{n}|| + \alpha_{n} ||Tz_{n}||$$

$$+ \beta_{n} ||x_{n} - Tx_{n}|| + \gamma_{n} u_{n}$$

$$\to 0.$$

therefore

$$\limsup_{n \to \infty} \langle p_t - w, J(p_t - x_n) \rangle \le \frac{t}{2} L \tag{3.1}$$

where  $L \ge ||p_t - x_n||^2 > 0$  for all  $t \in (0, 1)$  and  $n \in \mathbb{N}$ .

Since  $\{z_t - x_n\}$  is a bounded set, J is norm to norm uniformly continuous on each bounded subset of E by Lemma 1, and  $p_t \to p$  as  $t \to 0$ , therefore by letting  $t \to 0$  in (3.1), we get

$$\limsup_{n \to \infty} \langle w - p, J(x_n - p) \rangle \le 0.$$

Our last task is to prove that  $x_n \to p$ . Again we shall use Lemma 5.

$$||x_{n+1} - p||^{2} = ||(1 - a_{n}) (y_{n} - p) + a_{n} (w - p)||^{2}$$

$$\leq (1 - a_{n})^{2} ||y_{n} - p||^{2} + 2a_{n} \langle w - p, J(x_{n+1} - p) \rangle$$

$$\leq (1 - a_{n}) ||y_{n} - p||^{2} + 2a_{n} \langle w - p, J(x_{n+1} - p) \rangle$$

But a simple calculation leads to the fact that

$$||y_n - p|| \le ||x_n - p|| + \gamma_n ||v_n - p|| + \gamma'_n ||u_n - p||$$
  
  $\le ||x_n - p|| + (\gamma_n + \gamma'_n) ||x_1 - p||$ 

so that

$$||y_{n} - p||^{2} \leq ||x_{n} - p||^{2} + (\gamma_{n} + \gamma'_{n})^{2} ||x_{1} - p||^{2} +2 (\gamma_{n} + \gamma'_{n}) ||x_{n} - p|| ||x_{1} - p|| \leq ||x_{n} - p||^{2} + (\gamma_{n} + \gamma'_{n})^{2} ||x_{1} - p||^{2} +2 (\gamma_{n} + \gamma'_{n}) \max(||w - p||, ||x_{1} - p||) ||x_{1} - p|| \leq ||x_{n} - p||^{2} + \lambda_{n} D^{2}$$

where we choose  $\max(\|w - p\| \|x_1 - p\|, \|x_1 - p\|^2) \le D^2$  and  $\lambda_n = (\gamma_n + \gamma'_n)^2 + 2(\gamma_n + \gamma'_n)$ . Hence

$$||x_{n+1} - p||^2 \le (1 - a_n) ||x_n - p||^2 + 2a_n \langle w - p, J(x_{n+1} - p) \rangle + \lambda_n D^2.$$

Since  $\sum_{n=1}^{\infty} \lambda_n D^2 < \infty$  and  $\limsup_{n \to \infty} \langle w - p, J(x_n - p) \rangle \le 0$ , therefore by Lemma 3, we obtain  $x_n \to p$  as required.

This theorem generalizes Theorem 1 of Kim and Xu [9] as follows:

**Corollary 7.** Let C be a closed and convex subset of a uniformly smooth Banach space E. Let T be nonexpansive mapping from C into itself such that  $F(T) \neq \phi$ . Further, let  $\{x_n\}$  defined by (1.6) satisfy

$$\begin{cases} 0 < a_n < 1, \ a_n \to 0, \ \sum_{n=1}^{\infty} a_n = \infty, \ \sum_{n=1}^{\infty} |a_{n+1} - a_n| < \infty, \\ 0 < b_n < 1, \ b_n \to 0, \sum_{n=1}^{\infty} b_n = \infty, \sum_{n=1}^{\infty} |b_{n+1} - b_n| < \infty, \end{cases}$$

for all  $n \in \mathbb{N}$ . Then  $\{x_n\}$  converges strongly to a fixed point of T.

- **Remark 8.** 1. It is also worth noting that unlike Kim and Xu [9], we do not need the condition  $\sum_{n=1}^{\infty} b_n = \infty$ .
  - 2. Results proved under similar conditions using schemes (1.1), (1.5) (1.8) are also covered by our above theorem.
  - 3. The schemes (1.2) (1.4), (1.9) and (1.10) requiring  $a_n = 0$  are already covered by Theorem 2 proved by Khan and Fukhar [8].

### References

- R.E. Bruck, Nonexpansive projections on subsets of Banach spaces, Pacific J. Math., 47 (1973), 341–355. MR341223 (49 #5973). Zbl 0274.47030.
- [2] I.Cioranescu, Geometry of Banach spaces, duality mappings and nonlinear problems, Kluwer, Dordrecht, 1990. MR1079061 (91m:46021). Zbl 0712.47043.
- [3] G. Das and J.P. Debata, Fixed points of quasinonexpansive mappings, Indian J. Pure Appl. Math., 17 (1986), 1263–1269. MR868962 (88b:47078). Zbl 0605.47054.
- [4] A.Genel and J. Lindenstrass, An example concerning fixed points, Israel J. Math., 22 (1975), 81–86. MR390847 (52 #11670). Zbl 0314.47031.
- [5] B. Halpern, Fixed points of nonexpanding maps, Bull. Amer. Math. Soc., 73 (1967), 957–961. MR218938 (36 #2022). Zbl 0177.19101.

[6] S. Ishikawa, Fixed points by a new iteration method, Proc. Amer. Math. Soc., 44 (1974), 147–150. MR336469 (49 #1243). Zbl 0286.47036.

- [7] S.H.Khan, Estimating common fixed points of two nonexpansive mappings by strong convergence, Nihonkai.Math.J., 11(2) (2000), 159-165. MR1802246 (2001j:47066). Zbl 1012.47042.
- [8] S.H.Khan and H.Fukhar, Weak and Strong Convergence of a Scheme with errors for Two Nonexpansive Mappings, Nonlinear Anal., TMA, 61(8) (2005),1295– 1301. MR2135811 (2005k:47118). Zbl 1086.47050.
- T.H Kim. and H.K. Xu, Strong convergence of modified Mann iterations, Nonlinear. Anal., 61 (2005), 51–60. MR2122242 (2005i:47096). MR2122242 (2005i:47096). Zbl 1091.47055.
- [10] L. S. Liu, Ishikawa and Mann iterative process with errors for nonlinear strongly accretive mappings in Banach spaces, J. Math. Anal. Appl., 194(1) (1995), 114–125. MR1353071 (97g:47069). Zbl 0872.47031.
- [11] W.R. Mann, Mean value methods in iterations, Proc. Amer. Math. Soc., 4 (1953), 506–510. MR0054846 (14,988f). Zbl 0050.11603.
- [12] S.Reich, Asymptotic behavior of contractions in Banach spaces, J. Math. Anal. Appl., 44 (1973), 57–70. MR328689 (14,988f). Zbl 0275.47034.
- [13] S.Reich, Strong convergence theorems for resolvents of accretive operators in Banach spaces, J. Math. Anal. Appl., 75 (1980), 287–292. MR0576291 (82a:47050). Zbl 0437.47047.
- [14] N. Shioji and W. Takahashi, Strong convergence of approximated sequences for nonexpansive mappings in Banach spaces, Proc. Amer. Math. Soc., 129 (1997), 3641–3645. MR1415370 (98e:47088). Zbl 0888.47034.
- [15] K.K. Tan and H.K. Xu, Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process, J. Math. Anal. Appl., 178 (1993), 301–308. MR1238879 (94g:47076). Zbl 0895.47048.
- [16] Y. Xu, Ishikawa and Mann iterative processes with error for nonlinear strongly accretive operator equations, J. Math. Anal. Appl., 224 (1998), 91–101. MR1632966 (99g:47144). Zbl 0936.47041.

Safeer Hussain Khan

Department of Mathematics, Statistics and Physics, Qatar University,

Doha 2713, State of Qatar.

e-mail: safeerhussain5@yahoo.com